ADVANCED LIGO VACUUM EQUIPMENT PROCUREMENT

TYPICAL SPOOL DRAWING PACKAGE

DRAWING: L1GO_D0902633-v1



SEE V049-4-047
FOR MACHINING DETAIL

SEE DETAIL 7
SHEET 3

V049-4-!

SEE DWG 124
FOR TIE-ROD & BELLOWS ASSY.

5/8 ANNULUS PIPING PORT @ 48.0°
SEE NOTE 2 REF

SEE DETALL 2

SHEET 2

SEE V049-4-060
FOR MACHINING DETAIL

80
DIA REF

NAME PLATE
TACK WELD
4 CORNERS

S52
DIA REF

44 1/4 1D
REF

30.0°

: SEE DETA\IB

SHEET 2

b

SHIPPING COVER
SEE DWG V049-4-059G!

SEE DETAIL 8
SHEET 3

£ T0P &
LIFTING LUGS

48.0°
REF

ITEM | PART NUMBER | SUFFIX | a1y | um DESCRIPTION
1 | vosssoeo 1 |Ea [ FLANGE, GRODVED, 44 1/4° ID X 5 OD.
2 | vosens7 1 |EA [ FLANGE, FLAT FACE, 44 1/4° ID X €0° OD
A 3 | vesssossa 1 |ea | sIPPING cOVER assY
D 3 [ea | TIE-ROD ASSY. CPER VO49-4-120
Al 5 | vooeo 1 |Ea | PSI NAME PLATE, 2° X 3*
6 | vossenrrs 1 [ea [ BELLOVS ASSY. (PER VO49-2-017)
7| vossuzz 3 6 [EA |HALF NIPPLE, SST 304L, CONFLAT, 10° OD x 6 OD TUBE
]
b
1| 202667 3 6 [EA | FLANGE, CONLAT, BLANK 10° D
1
2
*| 13 | 202678 3 24 [EA | BOLT, SA153 37, HEX, 7/8-9 INC X 4’ LG.
HIENESD 3 24 [EA | NUT, SA194 B7, HEX, 7/8-9 UNC
15| 2oeseL 3 48 [EA | WASHER, STL, 1 3/4° D X 15/16 ID X 1/4° THK
16 | VodgMize 1 [EA | D-RING, VITON PER SPEC. V049-2-04%)
17 | vossmozz 1 |EA | O-RING, VITON (PER SPEC V045-2-045)
18 | eoes7 3 6 |EA | GASKET, COP DFHC COFC, CONFLAT, 10° OD
19 | vogH7T7 144 [EA | 3OLT, 18-8 SST, HEX HD. 5//16-18x2 1/2° LG.
20 | vogH7e2 144 [EA | NUT, SILICON BRZ HEX 5/16-18
21 | vogu7es EA | VASHER, 18-8 SST, FLAT 5/16
22 | Vo4ImosL 1 |EA | 3/4* OD. ELBOV x 2 3/4° ODCF.
% ELECTROLESS NICKEL PLATED
s SUPPLIED BY BELLOVS VENDOR
—~—— ALL CONFLATS
TO SHOW BOLT HOLES
STRADDLING VERTICAL ©
3000 SEE NOTE 15
NOTES!

15, CONFLAT LEAK CHECK SLOTS ARE TO BE POSITIONED
ON VERTICAL CENTERLINE,

CONFLAT FLANGES ARE TO HAVE PROTECTIVE
COVERS AT ALL TIMES DURING & AFTER
MANUFACTURING.

-

REF 13, PLATES PRIOR TO ROLLING MUST HAVE DIAGONAL CORNER
9 — TO CORNER DIMENSIONS VITHIN 1716’ OF EACH OTHER
SEE DETAIL 4 50" —
SHEET 3 50 3/4 12, EACH FINISHED SHELL IS TO BE MARKED WITH A SEQUENTIAL PSI
BY BELLOWS VENDOR SERIAL NUMBER. THE NUMBER 1S TO BE MADE FROM THE DRAVING
PLUS THE SEQUENTIAL NUMBER. V0434A1-01, 02 ETC.
se 1100 ———110° 11, TIGHTEN TIE-ROD NUTS WITH BELLOWS IN “FREE’
REF REF POSITIIN 70 100 FT-LB PRIOR TO LEAK TEST
10. LEAK TEST & METHOD PER PSI SPEC: V049-2-014
9. CERTIFIED MANUFACTURER'S MATERIAL TEST REPORTS REQUIRED, AS NOTED.
8. BOLT HOLES OF ALL FLANGES TO STRADDLE VERTICAL CENTERLINE +.01S.
7. CLEAN PER SPEC: V049-2-015
6. DO NOT USE CARBON STEEL BRUSHES DR BRUSHES CONTAMINATED
VITH CARBON STEEL ON STAINLESS OR ALUMINUM MATERIAL.
S
4. SPOOL FABRICATION TO BE IN ACCORDANCE WITH SPEC. V049-2-097.
3. FOR FLANGE DETAILS SEE DVG. V049-4-047 & 060.
2. THIS FLANGE INCLUDES AN ANNULAR CHANNEL BETWEEN O-RINGS
TAG NO'St WA-1A, WA-1B, WA-IC, WA-1D, WA-1E,WA-1F FOR A SINGLE PUMPOUT PORT, SEE DWG V049-4-061
LA-1A, LA-1B, LA-1C, LA-1D 1, VDS NO'S. REFER TO WELD DATA SPEC. V049-2-084.
APPROX.
WEIGHT! 1849#
un SYMBOL LMLESS (THERVISE SPECFIER
— poes PROCESS SYSTEMS INTERNATIONAL INC.
mas oo curaes pmETARY L7 | ruaness o o 3| REISSUED FIR FAR/SHIPPING AS NOTED SPIDER| 5/9/97 foase 20 NALKUP DR, VESTROROUGH, MASSAGAUSETTS O108H USA
i e B o Tomomery | "B 0y
STSTRG NTEMATIDW. DC_ R 178 Meimbc iv-or 10w s | 2 | DESIGN UPDATE/ISSUED FIR FABRICATION v | PEF RIC | REC | PV |11/22/96 |ms0 ADAPTER A-1
USED ONLY FOR THE PURPOIE FOR /, PARALELLISM THREE PLACE DECWAL 4 815 . v
NOCH I VAS SIS I S T / FINIED HRSFACE R 1 | DESIGN UPDATE / CBELLOVS ASSY. ONLY) PEF GS | Roc | REC | DA | 9/11/96 oo 44 1/4" ID x 72 1/4" 1D,
PReritEo B WL % B0 PART 15 | A " o | rssuen FR FIR v | Foc | Rec | oa | a7277% |ores LIGO VACUUM EQUIPMENT
THERE DCIPT M ACCIKMICE ITH THE- >
TERME OF ANY AGRESHENT UNDGR VHICH < ANGULARITY DO NOT SCALE THIS DRAVING | PL | PRELIMINARY Ma | 413796
T WAS SUPPLED DR VITH THE PRER o — — — — Widabiart T
Pt ey i AR T Y DESCRIPTIIN VG NO. DESCRIPTION © TRUE POSMON | uUSED DM REV DESCRIPTION CHKD DATE | DED®
FETIRED P e REFERENCE DRAVINGS -] NEXT ASSYH ISSUE DESCRIPTIN ous ryer -y ¥ LoF3




N

1/8—{|I—
REF,

WDS 35 —\

vs

WDS 8

/8

N %
N
PROTECT THIS SURFACE
/_ DURING FABRICATION

178] /2-4 \VIS 8

DETAIL 4
6 PLCS.
—‘ 1 REF.
WIS 16 [1/4 REF /
PROTECT THIS SURFACE / {
DURING FABRICATION T
WIS 16 %
1/4* REF VIS )76 /5%
Z\PRDTECT THIS SURFACE
) \(Dnunmu FABRICATION
1-1/4° REF
DETAIL “7”
PROCESS SYSTEMS INTERNATIONAL INC.
DETAIL ‘8" @ "R RE AR
ADAPTER_A-1 §
44 5/8 LD, X 72 1/4 1D
LIGO VACUUM EQUIPMENT é
CAD FILE SIZE [ WG, ND. .7
4183 D V049-4-A1 3 |4
s as NOTED [ aoFa >




//]A]03

%2350 REF

I%’ﬂl

* NOTE:
FINAL FINISHED LENGTH TO BE
DETERMINED BY BELLOWS VENDOR.

WELD SEAM

4s12 00 *3
DETAIL 1

aTYr 1
MAKE FROM V049M159-1

[ o5 ]
//]|A]03

—1—2a5

%2024 REF

7] 015
* NOTE:
FINAL FINISHED LENGTH TI

0 BE
DETERMINED BY BELLOWS VENDOR.

SHELL SEAM
WELD PREP

SHELL SEAM
WELD DETAIL

DETAIL 2

MAKE FROM V049M159-1

+03
4512 00 193

QTY! 1

& e TR

A
44 5/8°

DAPTER_A-1
LD, X 72 “ LD

.D, 1/ 3
LIGO VACUUM EQUIPMENT

CAD FLE SIZE | VG, N0 &V,
4a1se D V049-4-A1 3
o as NTED ¥ 20F 3 |

1



